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Let £ be a measurable set. fA f = 0 for all measurable subsets A of E. Show that

f=0 ae. (E).

E C R is measurable. f is integrable on E'. (Lebesgue)
()
Thensois |f| and |fEf‘ < [z If]?

(b)

Consider the improper Riemann integral of f (of a fixed kind) on
b

[a,b] (a < b< o0)wite Impf =/ f. (Riemann)
a

If f is Lebesgue integrable on [a, b], then what conclusions can you make about

I f?

Let g(t) be monotonic increasing and absolutely continuous on [e, 8]. f bounded

measurable on [a,b] with @ = g(a),b = g(8). Show that f(g(t)) is measurable on

[av, 8] and
b B
] f(z) dz = [ f(a()g'() dt

G
Suppose that fy — f a.e.in Rand fi,f€ L’(R) 1<p<oo.If

| fell, < M < o0, showthat [ frg — [ fg Vg€ Lq:i'l‘é:l-

L



n? k41
Assume f € L'(R) then lim Z / ' f(z) d:z:l =7? Give reasons.
ﬂ—i-xcaok:_ﬂ2 %

(a)
Describle Cauchy's integral formula.
(b)
Show that bounded entire function (on C') reduces to constant.
* cos mx .
Calculate dz, where m > () is a constant.
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